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7. 4. 9T / Question IeeX e
Q. No Answer Options
sfere - &, aAfgwe A, oAl ¥ | @) GeFRT / Mass
{ Eﬁ]’ T 'a?.n' %‘I b) Ads / Volume
" | In AUTOCAD the MASSPROP command will | ¢) diser dle® / Bounding box
provide information of solid body. | d}) 3wi& g8l / All of the above
tF gl sioAmE & feaar RBREEt &) a) 360
o | fasfe R ¥ b) 180
. - : . e . ¢) 270
A half-moon protractor is divided into how |
: d) 310
many degrees?
a) I FeTT / hidden feature
TH SdT @WUs, oY 39, U UH IR W& @3 | b) gocd T Fewm / center of a circle
3. afgd ¥RGT W@r _ B & ¢) AT qofel T Feg HaT
A line drawn with a long section, short dash, center axis of a hidden cylinder
and another long section is a d) FBear &7 g
' center of a radius
| a) TEETAY d@Er 8l
‘ Parallel straight edge -
YAl FOXET # WIET 3TN F HS IS | b) 45 B3 Freror
4 famfaf@a 1 gfErfag @ & 45 degree triangle
- Several of the tools used in traditional c) el CFOT
draughting include the following: Circle template
d) IREFT
All of the above
JosT AW v ¥ fafire amy@s | @) e / Symbol
s A ¥ _ b) ﬁ'c:%‘r / Perspective
Welding drawings arc a special type of | ) s / Assembly
drawings? d) 3msHATEH / Isometric
der yRRetl @ TE aeg ¥ e @ a) s / Orthographic
. Fed § b) Eed/Perspective .
Projection of an object by three views is known ¢) INFHARH / Isomatric
as ? d) fads / Oblique
s _ a) gAfAfy $r @r
dar Su Regfed wHOT W@ owoowEE Line of symmetry
7 | Towle w & faw G s & b) &ew Y@ / Center lines
. Long-da:hed dottegl narrow line is used to ¢) Rrr g / Pitch circles
represemt d) 3T | / All the above
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g3 / Question

e Taarey
Answer Options

@ U TR & T IRAT Wiee g
= BT &

o,

Bureau of Indian Standard publication for line
and lettering is ?

SP46
BIS 41218
ASME Y14.2M
ISO 9000

Hierhs # SrrgEr Yed afRa e dwwer @
N THIA, Th 3EF & A Fr
§THAT g Tnfge

When filling an area with a hatch pattern in
AutoCAD, the drafter needs to be able to

Sidg3 aF UL A HT FEAT
set the layer to Defpoints -

914 qER g WoTer WO e
T ¢ / see the entire bounding
area to hatch

FY F G

set Ortho on

ISO s &g &t

turn ISO grid off

10.

wﬁmmww‘r@r
ﬁrmﬁa%m%‘

In section, one quarter of the
object is removed?

b)

uf¥saT / Revolved

farRta / Removed

H?:I}ﬁ‘x’}' { Quarter
37%] / Half

11.

THaT wHCTE e A & o W 3w
WW%W%WH@%@
¥ gemd

The AutoCAD command used to combine two
or more primitive shapes into a single complex
3-dimensional model is ?

b)

c)
d)

S5 / Add
gfarae / Union
Hereat / Attach
WA / Form

12.

TR 3w Fr By 9§ 508 oot f seaaw
AT giEAfIT @ & F &9 # #eiiia
o ST &

The condition of a part when it contains the
ieast amount of material is referred to as

a)
b)
©)
d)

TA.TAEL / LMC

—AdH HAT / Smallest size -
arFafds AT / Actual size
TA.TAEE. | MMC

13.

AT SR o8T9T § Tifd e {@r
o T H ST ST R

Baseline dimensions are referenced from a
common geometric feature known -as a

a)

Y / Edge

b) =ier / Corner

c)
d)

3eH / Datum
et faig / Point of reference
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¥, . %7 / Question IR TaFed
Q. No Answer Options
TH G # fGer ud RER {fRa @ ared | a) [@e @r / Dimension line
dRafet garr got 4 o5 @ gt & | b) fawamor 3@r / Extension line
14. _____ isalineterminated by arrowheads, | ¢) e Y@r / Arrowhead line
indicating the direction and extent of a d) % x@r / Centerine
dimension. o ,
- | a) ¥ 3T / Dimensioned size
15 TR 1T 77 ;”? I 31 — @T'ﬂ‘%' b) 3cureet 3AET / Production size
. The measured. size of a finished part is ¢) @ 3 | Basic size
dy areafaes 31AT / Actual size
a) Fag ulitshd Red
T Hdg B AR A & fow gl e | Surface finish mark
16. g?}; W mr Sdr %‘ ’ b) FQﬁﬁ'hT ﬁ'-'I—E'?T / MaChining mark
is used to indicate that a surface is to ¢) GG gaE
be machined. Roughness indicator
d) Coordinate mark / GH=aT YIF
a) YA EAEH
, Portable documents
Afe 3@ & U 0 9Radel R wEr | b) U WU sl
17, | @ ST Feqafcia @ S § A revision block
An accurate record of changes made to release ¢) Hel o BT
drawings is tracked via : The basic title form
d) HEFERT IR@T
Working drawings
FIUT GET A gAY ¥ HT, 9 FI0T UG YT | a) 30Tt / Adjacent
T § wiEAfed o B © b) W& / Aligned
i8. Angles project true size, only when the plane | ¢) si=ag / Perpendicular
{ containing the angle and plane of projection are d) TAET / Parallel
?
a) 3N fog / it ‘
. " . . ) - h- - »
Tedh Mt #, F 96F UF I & b) z;;; %?;p ot/ horizon
19. T 3 A T S & Station point
In perspective drawings, is placed ¢) AT v / BT o
between the observer and the object. . .
; Plane of projection / picture plane
d) o ¥@r / Ground line
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9. T. 92T / Question 3t [Adeq
Q. No ' Answer Options
a) TE =1 asaAics aF I Flar
set the grid to isometric
was NS 5 R b)lﬂmqwﬁg‘mﬁgaﬂaaﬁa
20. BEHE f[ o ﬁtn‘— ﬁ m‘c . d@?ﬁ .% . set thé current layer to Defpoints
efore starting an isometric drawing in :
AutoCAD, the draughtsman needs to Q) g m # §g
' turit Object Snap off
d) 3irat &T §€ HEeT
turn Ortho off
AL AT 7§ gga A ses a) @ 9FR / line type
. Fr GIEARIT ST aRT b) effe @& / sheet number
" | The title block used on working drawings | ©) Rd ¥e / layer set
should include the d) IS F8fr / all of the above
a) aifde ¥ & ¥ifvg
placed horizontally
faRee fagwor ofic ot s faww b) sies faww #
2 FGIREITN in bold text
" | The text used on a typical detail sheet should be | ©) IREGHeTcAS a9 o1 &
. in an architectural text style
d) 39T § ¥ FiF ofr =g
none of the above
v oo s N | material
? ¢ = b) =g Y@M / center line
23, | e Y ¢) TI W W A
. The thread note for a typical bolt will include L2 _
fhe . major diameter of the thread
d) 3rwaT gfT / offset distance
s A, UF do B ol TH IHFAHR | a) O / Revolve
IN@T @R fRaT ST WeaT €, dasal | b) 3T@ROT / Extrude
24, | U1 GIRT fRAT S R ¥ ¢) uHT / Sweep
In AutoCAD, a cylinder can be created by |d) Iqdierd & & s off 6T
drafving a rectangular shape, then by none of the above
tool.
afg wE Y@r (1,5) wd (-3,5) Rt F | a) fia gfae / Three units
FRNFET v ST & o swdy ARG oW | b) T IfE / Four units
25. gl ¢) [T g / Five units
If a line is drawn between points (1,5) and (-3,5) ; d) U I / One unit

then it’s absolute length is
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q. &, vesT / Question 3eal A&eq
Q. No Answer Options
21 4. arar v of9r wWigen ofg WgyT ud |a) 3.6kg
se aTelr s § WA ¥ Ay oEw B Aerd ‘;)) ke
1 g & afir ol o ng/cmf’.% ar Uisq. &l d) 3.6'961{gg'
2. | — ‘ '
" | A hollow iron pipe is 21 om long and its
external diameter is 8 cm. If the thickness of the
pipe is 1 cm and iron weighs 8 gm/cm?, then the
weight of the pipe is 7.
a) 9IRS NG JaYeT
Project drawing management
b) 3curg 3MEe wfETET
27 PDM & fou wwifaa & Product drawing manipulation
PDM is the acronym for ¢} 3G 3T WL
Product data management
d) gRESEr 2er gfaree
Project data manipulation
a) 15 3rem@r 30 BT
15 or 30 degrees
fads m=ei #,  gegyaer Y@t & | b) 25 ruar 30 BT
g, | O sicaftd @Awad: ggEd AT Ed § 25 or 30 degrees .
In oblique sketches, the most commonly used | ¢) 60 32raT 90 3Rt
angles for receding lines are : 60 or 90 degrees
d) 30 zr2rar 45 BT
_ 30 or 45 degrees
aEgwellcAs D" AT Yedl  FT A ;% %g:égg':
29, The measua:;enment of -architectural "D" size ¢ 1 X177
. TTd) 34n X220
paper is :
UF g F UF T g Seoa i #T gl fa) €9/ Lead
. ®gdarg b} f=r / Pitch
30. The distance a screw thread advances axially in ¢) & / Tum
on_e tum 1s A d) e / Crest
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g2l / Question

Ieal [deeg

Answer Options

31.

IR U9 HFheq TAET IUEOT F w9 A
F TAET Hh, 3Meed WA H

F FT A TEESH g Ghar § AT Scureehar

3aitT @ Taeed Y ARl §

Using as a communication and

design review tool, can help shorten the design
process and eliminate productivity barriers.

Mg FrefaTe
Development plans
gared gl Bigd
Portable document files
The Internet and e-mail
3 =¢ / Ganit charts

32.

deibs o, w30 fAL Y @ oS g
B v T o B e S S
FREE F TR g @ F R Rig § 45
e & gram

In AutoCAD, using the Relative Polar
Coordinate System to add a 30 mm line that is
45 degrees from the end point of the line
created above the drafter would

d)

@30<45 T139 FI vd el gara
type @30<45 and enter

30 €189 H{ &F T & IWF
type 30 back slash and enter

30 TIET ®{ RIS T & 39T
UeT gard

type 30 forward slash and enter
30 ergq Y wd 3o f6g T yar
oI & AT ZraAffs gaye
USIHISC I JATT S g TIT
ETy

type 30 and try to use the
Dynamic Input readout to find
the end point

33.

T HT Fr s od wlwg F doFr siaw 23
#. ¥ afy suwr ofET 206 A & A swer

g el gpm

The difference between the length and breadth
of a rectangle 1s 23 m. If its perimeter is 206 m,
then its area is

a)
b)
¢)
d)

1520 m?
2420 m?
2480 m?
2520 m?

34.

serde #, THOT GANT FH G F
TAET O GHE ARG S B @A UH
Fog Il &

In AutoCAD, one quick way to view the entire

-| drawing area is to use the Zoom command by

typing

SHOWALL 2ET #td Ul
type SHOWALL enter

7 BT Fh A v

type Z enter A enter

7 23T FH T E vex
type Z enter E enter

ALL 259 &% Ul

type ALL énter
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99 / Question

I faFed

~ Answer Options

35.

U HfErhE Ueg S qd INFET avg w el
T & O e wed § wefg e ¥
T HETRATAN 3T Tl IR Figel H
saae T ST gehar & gl &

An AutoCAD term that refers to a pre-drawn
object which is stored in a drawing file and can

be inserted into any other drawing file as
needed is a

a)
b)
c)
d)

salies / Block

3% / Brick

‘s"‘ﬂf[ / Balloon

FREd & ¥ Fg ofr 7t

none of the above

36.

U ellh T Goled P GAT HRGHF A HUR
forg Tafad #td w&g fA¥ce waw &ar Jgar
¥ ifF =g foreifia aar ¥

When creating a block the drafter needs to pay

particular attention to selecting a base point
because it determines the

AT / Scale

guieT 0T / rotation angle
fedeeT fag / insertion point
got / color

37.

aﬁSﬁ.ﬁ.ﬁﬁsﬁ?ﬁ%,qwﬁarwa’r
150 #r, x 150 #., & #fF W FORar § 9@
. @rg

When a 5 om of rain falls, the volume of water
that falls on 150 m x 150 m of ground is

a)

)
a

112.5 cu.m
1125 cum
11.25 cum
11250 cum’

38.

T B F ARl 3T TF AHI IHET w7 T
P & fSowr oamem oguhr U
eI F o wF wtd = F fav fhar S
3

is a conical-shaped recess around a
hole, often used to receive a tapered screw
head.

919 / Boss

Tiz-E / Spot-face

uig fR&feelt / Counter-bore
ufd 8%y / Countersink

39.

AT fagda, Alsa, Er 307 959 Faw faar
fF W F ogepi o Hweud & wR
iffireas HT I & §

allows the designer to conceptualize

objects more easily without having to make
costly illustrations, models, or prototypes:

FoET WG Ted fersAfor
Computer-aided manufacturing
HYET T Ied Hpeq
Computer-aided design
Computer-aided engineering
e WETICT 9o 31 u%q
Computer-aided prototyping
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T, T
Q. No

et / Question

3 Ao
Answer Options

40,

Uk 6 AL dd vd 4 A g gl iy B 71
A 25 g f s A uElr & s Oaw @
FeT AT gt :

A water tank 6 m long and 4 m wide contains

water up to a depth of I m 25 em. The total area
of the wet surface is

a)
b)
<)
d)

[aS]

49 m
50-m
25 m
55m

[ R )

41.

& WEIr & gRued e A, R
eIar Fr HeAfa & el &

In a bilateral system of tolerance, the folerance
is allowed on

d)

AREARH JAT F TR al®
one side of the actual size
ATHIT ATHT F UF G
one side of the nominal size
eI AT F gl aiw
both sides of the actual size
ATHT AT F AT W

both sides of the nominal size

42,

UF AT & avwe F ufquaar gfy & oy
T Yed% WIEs # 20% SN sers S § ar
gl & '

The percentage increase in the area of a
rectangle, if each of its sides is increased by
20% is

a)
b)

©)

40%
42%
44%
46%

43.

& Idn & GRIT T B Fwrer gar &

A file removes the metal during

d)

AT % / forward stroke
LY T / return stroke
gl 30T v adr w’re

both forward and return strokes
3Fd H U RIG o mEr

none of these

44,

F T 25 Arear, 12 7. gler va 6 #L e )
FHHT AR TF el HT & U FT F &

iy gt /@ 75593 § ar gram

A tank is 25 m long, 12 m wide and 6 m deep.
The cost of plastering its walls and bottom at
7.5Rs. per sq. m, is

a)
b)
c)
d)

Rs. 4560
Rs. 4580
Rs. 5580

‘Rs. 5680

4s.

AG ST H Fed & FA A, B &1 a7 |

o7 glem anfge
In order to cut mild steel, the cutting angle of
chisel should be

a)

c)
d)

30°
45°
50°
60°
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7. 4. wesT / Question 3ccl TFeT
Q. No -Answer Options
. . a) UFET / Graphite
Sfel A et 3 d el I 6 G e Silicon
46. GHT-IT'%.* ! Which of the following is used in ¢) TEHTET / Charcoal
P encﬂs?_ d) ®E®RE / Phosphorous
a) iRt wd grEgie
oxygen and hydrogen
b) 3iierEie, sregere, THiiee T
faffiet TR F dosa A wgewd W AreereeT
47, B afeAfaa s3Er oxygen, hydrogen, acetylene and
The gases used in different types of welding nitrogen
would include ' c) sifFdier, vHiees vd HEA
oxygen, acetylene and argon
d) e wd S
oxygen and acetylene
AR, FAR, Irer dHaRl HT FTSAT F | a) Braw et / feeler gauge
ZarT S fRaT o war ¥ by wdf afer / slip gauge
48. The accuracy of micrometers, calipers, dial | ¢) e aier / ring gauge
indicators can be checked by a . d) wer 9t / plug gau gé
m*ﬁ@m;% yosg | @) fasmsE / Divider
19 T ST ¥ 7 b) 4A=T / Scale .
. is used to check the squareness of | ¢) ®adT / Trysquare
surfaces. ‘ d) g / Surfacgange
a) I S A TAA
B ' Strengthen the joint
e ¥ far fEfa gl @ | b) werRl # RgReT e
50 gfFuus e wae fsarfed frar srar & Avoid tearing of plates
" | Caulking and fullering is performed on riveted | ¢) &7 et
joints to Prevent leakage
d) 39T Teir
All of the above
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10%) (5 x 10%), the result is

9. 4. 2T / Question e fawed
Q. No ' Answer Options
a) dg3t & INFET fmar o7 ghar &
can be drawn into wires
b) 3= &g FT el FT T &
L can cut another metal
POl T ard &1 7 4 § GwHr a9lg ¥ ¢) wfavg vl Feger & @Ry s
s | __ | - B §
o The hardness is the property of a material due breaks with little permanent
to which it . : distortion
d) ucelt Wat F @i 3rear gatar
AT S G §
can be rolled or hammered into
thin sheets
v gard & Aunend e aug § I8 Hiae | a) 9T / Brittleness
R faeaor & W H gier & A b) @=rar / Ductility
Fgd & c) JTETaEEdar / Malleability
52, The property of a material due to which it d) varfesar / Plasticity
breaks with little permanent distortion, is called
FON SEAIT A g T & TIFF AT 37aR | &) FEEFOT / Carburizing
53 | TRm 2 & ’ b) wETEEEOT / Normalizing
" | The heat treatment process used for softening | ©) 3o / Annealing
hardened steel is d) GERRa / Tempering
‘ ‘ : a) dider / Brass
s am, fea, 5% & ﬁi‘s;ﬂl ig F ————W & b) @I / Bronze
2% | An alloy of coppe; tin and zinc is known as ¢) T 1 / Gun metal
d) Nuntz &g / Nuntz metal
a) HB
55 i@ # & &l |1 90 o ®oRad &2 | b) H
" | Which of the following pencil lead is hardest? [c¢) B’
‘ : d) F
o ToT a1 WA & AT w3, (6 % 10%) (5 % | &) 3><1088
5. yfomrar b) 30x10
56. ‘]:R?h), th b‘s)mT ltiptied, (6 = | ¢ 200> 10"
en these two numbers are multiplied, ( d) 3000 x 107
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7. . .99 / Question 3 AweT
Q. No Answer Options
a) gag / Henries
57 3 faier & A R o § b) 3???1{4’0111118
Resistance is measured in ¢) d1¢ / Watts
d) aeT / Volts
afy w9 30 gef & faw 400 W fr afdq =1 |a) 13kWh
e R E A s fam | D) 133 kWh
- : ¢) 12kWh
58, @ ' d) 12.3kWh
If you used 400 W of power for 30 hours, you
have used .
a) TAWE T e
viscosity of ink
SHIET T ZAT FM 1 SFaraeT —_— ) ca;illaryij:;on phenomenon
59, | AT FAE _ ¢) SR ¥ ZENT T 1 RERer
’_l"he absorption of ink by blotting paper diffusion of ink through the
involves . .
blotting :
d) W ferar
siphon action
a) AT URT FT A9 THF
the heating effect of current alone
. RGIERI Bl
| S8 TEEER F A $r goE @ hysteresis loss alone
o, |ECTE _ c)aﬁ?ﬁuma:ramﬁrqmva‘
The heating of the large transformer is due to ey grer
‘ - both the heating effect of current
and hysteresis loss
d)y meaEa & dJig i

" intense sunlight at noon
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